	B18-06, APC UPS Tabsheet		SDF Professional Computers			Dell		Alpine	e Power Sy	rstems		TIG			ard Techn	ology	Tech Optics			A3 Communications		
Description	Est Qty	Make& Model	Unit Cost	Total Cost	Make& Model	Unit Cost	Total Cost	Make& Model	Unit Cost	Total Cost	Make& Model	Unit Cost	Total Cost	Make& Model	Unit Cost	Total Cost	Make& Model	Unit Cost	Total Cost	Make& Model	Unit Cost	Total Cost
APC Smart UPS Model: SMT3000RM2U	200	As Spec	\$769.50	\$153,900.00	As Spec	\$804.40	\$160,880.00	As Spec	\$812.00	\$162,400.00	As Spec	\$815.00	\$163,000.00	APC SMT3000RM2 UC	\$820.00	\$164,000.00	As Spec	\$835.58	\$167,116.00	As Spec	\$863.78	\$172,756.00
APC Smart UPS Network Card Model: SRT3000RMXLA-NC	200	As Spec	\$1,284.60	\$256,920.00	As Spec	\$1,340.66	\$268,132.00	As Spec	\$1,353.00	\$270,600.00	As Spec	\$1,358.23	\$271,646.00	As Spec	\$1,370.00	\$274,000.00	As Spec	\$1,392.64	\$278,528.00	As Spec	\$1,435.87	\$287,174.00
APC Smart UPS Rack/Tower With Network Card Model: SMX3000RMLV2UNC	200	As Spec	\$993.25	\$198,650.00	As Spec	\$1,039.55	\$207,910.00	As Spec	\$1,048.00	\$209,600.00	As Spec	\$1,052.63	\$210,526.00	As Spec	\$1,060.00	\$212,000.00	As Spec	\$1,079.30	\$215,860.00	As Spec	\$1,112.80	\$222,560.00
Total Cost		\$609,470.00		\$636,922.00		\$642,600.00		\$645,172.00		\$650,000.00			\$661,504.00			\$682,490.00)				
Delivery ARO			10-15 Days		14-30 Days		12 Weeks		2 Weeks			5-7 Days			15-21 Days			30-45 Days				
Notes		Awarded Contract Quoted SMT3000RM2UC for line item #1					Quoted SMT3000RM2UC for line item #1						Quoted SMT3000RM2UC for line item #1									

AC & DC	AC & DC Power Technologies SHI Interna		II Internation	nal	Q	Questyme USA		Camcor		Power Systems		PC Solutions		CCS Presentation Systems			Synergy Telcom			Tiles In Style		le				
Make& Model	Unit Cost	Total Cost	Make& Model	Unit Cost	Total Cost	Make& Model	Unit Cost	Total Cost	Make& Model	Unit Cost	Total Cost	Make& Model	Unit Cost	Total Cost	Make& Model	Unit Cost	Total Cost	Make& Model	Unit Cost	Total Cost	Make& Model	Unit Cost	Total Cost	Make& Model	Unit Cost	Total Cost
As Spec	\$1,096.75	\$219,350.00	As Spec	\$1,135.00	\$227,000.00	As Spec	\$1,075.00	\$215,000.00	As Spec	\$1,111.96	\$222,392.00	As Spec	\$1,145.00	\$229,000.00	As Spec	\$1,135.00	\$227,000.00	As Spec	\$1,236.07	\$247,214.00	As Spec	\$1,358.97	\$271,794.00	As Spec	\$1,418.75	\$283,750.00
As Spec	\$1,821.25	\$364,250.00	As Spec	\$1,545.00	\$309,000.00	As Spec	\$2,345.00	\$469,000.00	As Spec	\$2,418.80	\$483,760.00	As Spec	\$2,434.00	\$486,800.00	As Spec	\$2,458.00	\$491,600.00	As Spec	\$2,657.89	\$531,578.00	As Spec	\$2,955.48	\$591,096.00	As Spec	\$3,077.50	\$615,500.00
As Spec	\$1,441.80	\$288,360.00	As Spec	\$2,450.00	\$490,000.00	As Spec	\$1,465.00	\$293,000.00	As Spec	\$1,462.14	\$292,428.00	As Spec	\$1,516.00	\$303,200.00	As Spec	\$1,525.00	\$305,000.00	As Spec	\$1,708.22	\$341,644.00	As Spec	\$1,846.70	\$369,340.00	As Spec	\$1,896.25	\$379,250.00
	\$871,960.0	00		\$1,026,000.0	0		\$977,000.00			\$998,580.00			\$1,019,000.0	0		\$1,023,600.0	00		\$1,120,436.0	0		\$1,232,230.0	0		\$1,278,500.0	.0
	60 Days 5-7 Days 2 Weeks			3-30 Days			19 Days		2 Weeks			10-15 Days			30 Days			4-8 Weeks								
														Quoted SMT3000RM2UC for line item #1												

	B18-06, APC UPS Alternate Bids Tabsheet		United Power & Battery			SHI International			ower Systems	3	N	illennium UPS	3	Power Sytems			A3 Communications		
Description	Est Qty	Make& Model	Unit Cost	Total Cost	Make& Model	Unit Cost	Total Cost	Make& Model	Unit Cost	Total Cost	Make& Model	Unit Cost	Total Cost	Make& Model	Unit Cost	Total Cost	Make& Model	Unit Cost	Total Cost
APC Smart UPS Model: SMT3000RM2U	200	Extreme Power	\$756.00	\$151,200.00	Cyber Power	\$688.00	\$137,600.00	Cyber Power	\$719.00	\$143,800.00	Xtreme Power	\$738.17	\$147,634.00	Extreme Power	\$749.00	\$149,800.00	Smart	\$857.45	\$171,490.00
APC Smart UPS Network Card Model: SRT3000RMXLA-NC	200	Extreme Power	\$150.00	\$30,000.00	Cyber Power	\$760.00	\$152,000.00	Cyber Power	\$829.00	\$165,800.00	Xtreme Power	\$1,240.01	\$248,002.00	Extreme Power	\$868.00	\$173,600.00	Smart	\$887.91	\$177,582.00
APC Smart UPS Rack/Tower With Network Card Model: SMX3000RMLV2UNC	200	Extreme Power	\$906.00	\$181,200.00	Cyber Power	\$760.00	\$152,000.00	Cyber Power	\$1,060.00	\$212,000.00	Xtreme Power	\$863.27	\$172,654.00	Extreme Power	\$1,265.00	\$253,000.00	Smart	\$1,299.80	\$259,960.00
Total Cost		\$362,400.00			\$441,600.00			\$521,600.00			\$568,290.00			\$576,400.00			\$609,032.00		
Delivery AR	10	1-14 Days			5-7 Days			15 Days			8-10 Weeks			38 Days			30-45 Days		
Notes		Alternate Non Awarded Per Technology			Alternate Non Awarded Per Technology			Alternate Non Awarded Per Technology			Alternate Non Awarded Per Technology			Alternate Non Awarded Per Technology			Alternate Non Awarded Per Technology		

Power Systems		Р	Power Systems			Questyme USA			AC & DC Power Technologies			Graybar		AC & DC Power Technologies			Choicecomm				
Make& Model	Unit Cost	Total Cost	Make& Model	Unit Cost	Total Cost	Make& Model	Unit Cost	Total Cost	Make& Model	Unit Cost	Total Cost	Make& Model	Unit Cost	Total Cost	Make& Model	Unit Cost	Total Cost	Make& Model	Unit Cost	Total Cost	
MinuteMan	\$893.00	\$178,600.00	MinuteMan	\$893.00	\$178,600.00	TrippLite	\$875.00	\$175,000.00	Staco	\$920.00	\$184,000.00	MinuteMan	\$871.29	\$174,258.00	Orion	\$971.20	\$194,240.00	Vertiv	\$740.65	\$148,130.00	
MinuteMan	\$1,046.00	\$209,200.00	MinuteMan	\$1,069.00	\$213,800.00	TrippLite	\$1,600.00	\$320,000.00	Staco	\$1,550.00	\$310,000.00	MinuteMan	\$1,573.74	\$314,748.00	Orion	\$1,364.80	\$272,960.00	Vertiv	\$1,890.49	\$378,098.00	
MinuteMan	\$1,207.00	\$241,400.00	MinuteMan	\$1,207.00	\$241,400.00	TrippLite	\$900.00	\$180,000.00	Staco	\$1,052.00	\$210,400.00	MinuteMan	\$1,104.00	\$220,800.00	Orion	\$1,364.80	\$272,960.00	Vertiv	\$1,104.00	\$220,800.00	
	\$629,200.00			\$633,800.00			\$675,000.00			\$704,400.00			\$709,806.00			\$740,160.00			\$747,028.00		
	19 Days			18 Days			1-2 Weeks			60 Days			30 Days			70 Days			4-6 Weeks		

	N1 Critical			Jemtech		PC Solutions					
Make& Model	Unit Cost	Total Cost	Make& Model	Unit Cost	Total Cost	Make& Model	Unit Cost	Total Cost			
N1CL Series	\$1,259.00	\$251,800.00	Eaton	\$1,021.67	\$204,334.00	Schneider	\$1,135.00	\$227,000.00			
N1CL Series	\$1,259.00	\$251,800.00	Eaton	\$1,946.30	\$389,260.00	Schneider	\$2,458.00	\$491,600.00			
N1CL Series	\$1,259.00	\$251,800.00	Eaton	\$1,403.46	\$280,692.00	Schneider	\$1,525.00	\$305,000.00			
	\$755,400.00			\$874,286.00			\$1,023,600.00				
	5-7 Weeks			5-10 Days			2 Weeks				